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SA - FHH . SA(3) - MSAY - BES 0 Arod ol o HimE=FT
SAIHIE 1t 9,984,427 7,718,563 2,265,864
= 50,551 0 50,551
= 500,000 500,000 0
[ 870,000 0 870,000
Al 8,563,876 7,218,563 1,345,313
SAZe|HE L L (ZELXGNL/RLLEAI) 9,914,618 7,648,850 2,265,768
= 50,551 0 50,551
= 500,000 500,000 0
[ 870,000 0 870,000
Al 8,494,067 7,148,850 1,345,217
SAIZ2 e 2,266,770 671,770 1,595,000
[ 870,000 0 870,000
Al 1,3%,770 671,770 725,000
SEZ 33U E5tel =4 (HEALY) 1,300,000 0 1,300,000
< 650,000 0 650,000
Al 650,000 0 650,000
401 AlEBIL S CHYI 1,300,000 0 1,300,000
< 650,000 0 650,000
Al 650,000 0 650,000
01 Al&HI 1,295,320 0 1,295,320
O=22 330N SatHel ZgA (3Rt
) 1,300,000, 0002 *99.64/100 1,295,320 0 1,295,320
& 650,000 0 650,000
Al 645,320 0 645,320
03 A2 20HHI 4,680 0 4,680
SE&2 230X Sstel ZAA (3Rt
Ee) 1,300,000,000& *0.36/100 4,680 0 4,680
Ol==Al Z2IOHS AR (& AFZIHI) 5,000 0 5,000
401 AlEBIYL S THYI 5,000 0 5,000
01 Al&HI 5,000 0 5,000
OO0f==Al 22 A [2023E H2tHTHE I}
APArHI] 5,000,000& *14] 5,000 0 5,000
HAS Ol=Z2 HEALE 100,000 0 100,000
[ 100,000 0 100,000
401 AlEBIYL S THYI 100,000 0 100,000
< 100,000 0 100,000
01 AlEZHI 100,000 0 100,000
OWANS Ot=d2 HE A
100,000,000& 14 100,000 0 100,000
< 100,000 0 100,000
xS MtS32 HEAY 100,000 0 100,000
< 100,000 0 100,000
401 AlEHIYL S THYI 100,000 0 100,000
[ 100,000 0 100,000
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01 Al&ZHI 100,000 0 100,000
O=2+s 0i=gd2 HEA
100,000,000 14! 100,000 0 100,000
[ 100,000 0 100,000
HEs Ot=d2 T8AY 20,000 0 20,000
< 20,000 0 20,000
401 AlEBIYL S THYI 20,000 0 20,000
< 20,000 0 20,000
01 Al&ZHI 20,000 0 20,000
OES Ot=d2 gAY
20,000,000 14! 20,000 0 20,000
< 20,000 0 20,000
ANES Z2EH At 20,000 0 20,000
401 Al&BIL LY 20,000 0 20,000
01 Al£ZHI 20,000 0 20,000
ONZsS 223l Alg['22d, 238 SEXH
WES HER] 20,000,000 * 14! 20,000 0 20,000
DAFEAIESI0IS ALY 50,000 0 50,000
401 AlEBIYL S THYI 50,000 0 50,000
01 Al&HI 50,000 0 50,000
ODAFAIEE0IS EHIAIY
50,000,000 *14] 50,000 0 50,000
MNetax &3 X89S £X 7,032,748 6,361,980 670,768
= 50,551 0 50,551
= 500,000 500,000 0
Al 6,482,197 5,861,980 620,217
TEAE A2 3,847,960 3,461,980 385,980
201 fer=2 3| 3,680,020 3,294,040 385,980
02 3524l 3,647,980 3,262,000 385,980
O222= 2 HA 2,612,980 2,227,000 385,980
o2XES HJIR=
& 1,447,900,000& 1,447,900 1,300,000 147,900
oSHE 2ots MRS
d3d 887,720,000 887,720 700,000 187,720
oF&xd L3
3F 243,610,000 243,610 200,000 43,610
oLZXES SHES
d& 33,750,000 33,750 27,000 6,750
2 @ 0% XEsS 34l 1,013,783 950,000 63,783
305 ia =S 850 0 850
01 =S 850 0 850
OJ2E D22 QIet XHHE thaa
850,000 *14] 850 0 850
401 AlZBIL STy 1,012,933 950,000 62,933
01 Al&ZHI 1,005,967 943,034 62,933
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O203E SUHa T2XY SR B2SAK
EEIFAHIF) 62,932, 1003 *14! 62,933 0 62,933
L Z&AXHEES | 276,753 200,000 76,753
401 AlEHIZ 20| 276,753 200,000 76,753
01 AIEHI 275,313 198,560 76,753
02023 FAEYH RN 22l B=BAHESIHH
°f) 76,752,5003 x 14! 76,753 0 76,753
C2XRYLH JAEY 2ot 2E AY 84,252 0 84,252
= 50,551 0 50,551
Al 33,701 0 33,701
401 AIEHIZ 28I 84,252 0 84,252
= 50,551 0 50,551
Al 33,701 0 33,701
01 Al&HI 84,252 0 84,252
OS2 Y4l AT lZet 25
84,252,000& * 14! 84,252 0 84,252
= 50,551 0 50,551
Al 33,701 0 33,701
SAE HSHAHEZ B 2SS Al 60,000 0 60,000
401 AIEHIZ 2018 60,000 0 60,000
01 Al&HI 59,460 0 59,460
OSME HSut=2 B JI2S oIl
60,000,000& *99.1/100 59,460 0 59,460
03 Al R CHYI 540 0 540
OSAS HSHE2 e JIZ2S alM
60,000, 000&*0.9/100 540 0 540
HRES(SAHEN) (LSS HE/ LS - THERIH) % 0 %
BEXE % 0 %
BAEXE % 0 %
802 Bt JIE} 9% 0 9%
01 =REXxFEEZE 9% 0 9%
Q2023 10TD|8t S22 X HAH| A=A
ASAE 9% 0 %
o ALS&HOH 30,000 %14 30 0 30
=0l At 66,0002 14! 66 66




